Janice M. Riley, Inc. DBA The Paving Lady Proposal

Pricing unsealed at Sep 21, 2023 3:00 PM

Email estimating@pavinglady.com Contact Mauro Comuzzi Address 1000 W. Industrial Avenue Boynton Beach, FL 33426 Phone (661) 572-2600 Website NVA Submission Date Sep 21, 2023 1:01 PM ADDENDA CONFIRMATION No addonda issued QUESTIONNAIRE 1. VENDOR REFERENCE FORM* Please download the below documents, complete, and upload. Authorized Reference Form adf	CONTACT INFORMATION		
estimating@pavinglady.com Contact Mauro Comuzzi Address 1000 W. Industrial Avenue Boynton Beach, FL 33426 Phone (681) 572-2600 Website NVA Submission Date Sep 21, 2023 1:01 PM ADDENDA CONFIRMATION No addenda issued QUESTIONNAIRE 1. VENDOR REFERENCE FORM* Please download the below documents, complete, and upload. Liv Vendor Reference Form.pdf At Hollywood. Vendor Form completed.pdf 2. Holl D HARMLESS AND INDEMNITY CLAUSE* II, an authorized representative, the contractor, shall indemnify, defend and hold harmless the City of Hollywood, its elected and apopinate foricials, employees and agents for any and all suits, actions, legal or administrative proceedings, claims, damage, liabilities, interest, attorney's fees, costs of any kind whether arising prior to the start of a citivities or following the completion or acceptance and in any manner directly or indirectly caused, occasioned or contributed to in whole or in part by reason of any act, error or omission, fault or negligence whether arising prior to the start of a citivities or following the completion or acceptance and in any manner directly or indirectly caused, occasioned or contributed to in whole or in part by reason of any act, error or omission, fault or negligence whether arising prior to the start of a citivities or following the completion or acceptance and in any manner directly or indirectly caused, occasioned or contributed to in whole or in part by reason of any act, error or omission, fault or negligence whether arising prior to the start of a citivities or following the completion or acceptance and in any manner directly or indirectly caused, occasioned or contributed to in whole or in part by reason of any act, error or omission, fault or negligence whether arising prior to the start of a citivities or following the completion or acceptance and in any manner directly or indirectly caused, occasioned or contributed to in whole or in part by reason of any act, error or omission, fault or negligence	Company Janice M. Riley, Inc. DBA The Paving Lady		
Mauro Comuzzi Address 1000 W. Industrial Avenue Boynton Beach, FL 33426 Phone (561) 572-2600 Website N/A Submission Date Sep 21, 2023 1:01 PM ADDENDA CONFIRMATION No addenda issued QUESTIONNAIRE 1. VENDOR REFERENCE FORM* Please download the below documents, complete, and upload. By vendor Reference Form cott Please download the below documents, complete, and upload. All Individual Confirmation Please of the contractor, shall indemnify, defend and hold harmless the City of Hollywood, its elected and appointed officials, employees and agents for any and all suits, actions, legal or administrative proceedings, claims, damage, liabilities, interest, attorney's fees, costs of any kind whether arising prior to the start of activities or following the completion or acceptance and in any manner directly or indirectly caused, occasioned or contributed to in whole or in part by reason of any act, error or omission, fault or negligence whether active or passive by the contractor, or anyone acting under its direction, control, or on its behalf in connection with or incident to its performance of the contract.	Email estimating@pavinglady.com		
Phone (661) 572-2600 Website N/A Submission Date Sep 21, 2023 1:01 PM ADDENDA CONFIRMATION No addenda issued QUESTIONNAIRE 1. VENDOR REFERENCE FORM* Please download the below documents, complete, and upload. □ Vendor Reference Form and □ Hollywood_Vendor Form_completed.pdf 2. HOLD HARMLESS AND INDEMNITY CLAUSE* I, an authorized representative, the contractor, shall indemnify, defend and hold harmless the City of Hollywood, its elected and appointed officials, employees and agents for any and all suits, actions, legal or administrative proceedings, claims, damage, liabilities, interest, attorney's fees, costs of any kind whether arising prior to the start of activities or following the completion or acceptance and in any manner directly or indirectly caused, occasioned or contributed to in whole or in part by reason of any act, error or omission, fault or negligence whether active or passive by the contractor, or anyone acting under its direction, control, or on its behalf in connection with or incident to its performance of the contract.	Contact Mauro Comuzzi		
Website N/A Submission Date Sep 21, 2023 1:01 PM ADDENDA CONFIRMATION No addenda issued QUESTIONNAIRE 1. VENDOR REFERENCE FORM* Please download the below documents, complete, and upload. A Vendor Reference Form.pdf Hollywood_Vendor_Form_completed.pdf 2. HOLD HARMLESS AND INDEMNITY CLAUSE* I, an authorized representative, the contractor, shall indemnify, defend and hold harmless the City of Hollywood, its elected and appointed officials, employees and agents for any and all suits, actions, legal or administrative proceedings, claims, damage, liabilities, interest, attorney's fees, costs of any kind whether arising prior to the start of activities or following the completion or acceptance and in any manner directly or indirectly caused, occasioned or contributed to in whole or in part by reason of any act, error or omission, fault or negligence whether active or passive by the contractor, or anyone acting under its direction, control, or on its behalf in connection with or incident to its performance of the contract.	Address 1000 W. Industrial Avenue Boynton Beach, FL 33426		
Submission Date Sep 21, 2023 1:01 PM ADDENDA CONFIRMATION No addenda issued QUESTIONNAIRE 1. VENDOR REFERENCE FORM* Please download the below documents, complete, and upload. By Vendor Reference Form.pdf Hollywood Vendor Form completed.pdf 2. HOLD HARMLESS AND INDEMNITY CLAUSE* I, an authorized representative, the contractor, shall indemnify, defend and hold harmless the City of Hollywood, its elected and appointed officials, employees and agents for any and all suits, actions, legal or administrative proceedings, claims, damage, liabilities, interest, attorney's fees, costs of any kind whether arising prior to the start of activities or following the completion or acceptance and in any manner directly or indirectly caused, occasioned or contributed to in whole or in part by reason of any act, error or omission, fault or negligence whether active or passive by the contractor, or anyone acting under its direction, control, or on its behalf in connection with or incident to its performance of the contract.	Phone (561) 572-2600		
ADDENDA CONFIRMATION No addenda issued QUESTIONNAIRE 1. VENDOR REFERENCE FORM* Please download the below documents, complete, and upload. Let Vendor Reference Form.pdf Let Hollywood_Vendor_Form_completed.pdf 2. HOLD HARMLESS AND INDEMNITY CLAUSE* I, an authorized representative, the contractor, shall indemnify, defend and hold harmless the City of Hollywood, its elected and appointed officials, employees and agents for any and all suits, actions, legal or administrative proceedings, claims, damage, liabilities, interest, attorney's fees, costs of any kind whether arising prior to the start of activities or following the completion or acceptance and in any manner directly or indirectly caused, occasioned or contributed to in whole or in part by reason of any act, error or omission, fault or negligence whether active or passive by the contractor, or anyone acting under its direction, control, or on its behalf in connection with or incident to its performance of the contract.	Website N/A		
QUESTIONNAIRE 1. VENDOR REFERENCE FORM* Please download the below documents, complete, and upload. Please form.pdf Hollywood_Vendor_Form_completed.pdf 2. HOLD HARMLESS AND INDEMNITY CLAUSE* I, an authorized representative, the contractor, shall indemnify, defend and hold harmless the City of Hollywood, its elected and appointed officials, employees and agents for any and all suits, actions, legal or administrative proceedings, claims, damage, liabilities, interest, attorney's fees, costs of any kind whether arising prior to the start of activities or following the completion or acceptance and in any manner directly or indirectly caused, occasioned or contributed to in whole or in part by reason of any act, error or omission, fault or negligence whether active or passive by the contractor, or anyone acting under its direction, control, or on its behalf in connection with or incident to its performance of the contract.	Submission Date Sep 21, 2023 1:01 PM		
QUESTIONNAIRE 1. VENDOR REFERENCE FORM* Please download the below documents, complete, and upload. Wendor Reference Form.pdf	ADDENDA CONFIRMATION		
1. VENDOR REFERENCE FORM* Please download the below documents, complete, and upload.	No addenda issued		
Please download the below documents, complete, and upload. Vendor Reference Form.pdf	QUESTIONNAIRE		
I, an authorized representative, the contractor, shall indemnify, defend and hold harmless the City of Hollywood, its elected and appointed officials, employees and agents for any and all suits, actions, legal or administrative proceedings, claims, damage, liabilities, interest, attorney's fees, costs of any kind whether arising prior to the start of activities or following the completion or acceptance and in any manner directly or indirectly caused, occasioned or contributed to in whole or in part by reason of any act, error or omission, fault or negligence whether active or passive by the contractor, or anyone acting under its direction, control, or on its behalf in connection with or incident to its performance of the contract.	1. VENDOR REFERENCE FORM* Please download the below documents, complete, and upload. \(\text{\$\te\	Pass	☐ Fai
	officials, employees and agents for any and all suits, actions, legal or administrative proceedings, claims, damage, liabilities attorney's fees, costs of any kind whether arising prior to the start of activities or following the completion or acceptance ar directly or indirectly caused, occasioned or contributed to in whole or in part by reason of any act, error or omission, fault or	and appoin s, interest, nd in any ma r negligence	ited anner

Pass Fai

3. NON-COLLUSION STATEMENT*

I, being first duly sworn, depose that:

- He/she is an authorized representative of the Company, the Proposer that has submitted the attached Proposal.
- 2. He/she has been fully informed regarding the preparation and contents of the attached Proposal and of all pertinent circumstances regarding such Proposal;
- 3. Such Proposal is genuine and is not a collusion or sham Proposal;
- 4. Neither the said Proposer nor any of its officers, partners, owners, agents, representatives, employees or parties in interest, including this affiant has in any way colluded, conspired, connived or agreed, directly or indirectly with any other Proposer, firm or person to submit a collusive or sham Proposal in connection with the contractor for which the attached Proposal has been submitted or to refrain from bidding in connection with such contract, or has in any manner, directly or indirectly, sought by agreement or collusion or communication or conference with any other Proposer, firm or person to fix the price or prices, profit or cost element of the Proposal price or the Proposal price of any other Proposer, or to secure an advantage against the City of Hollywood or any person interested in the proposed Contract; and
- 5. The price or prices quoted in the attached Proposal are fair and proper and are not tainted by any collusion, conspiracy, connivance or unlawful agreement on the part of the Proposer or any of its agents, representatives, owners, employees, or parties in interest, including this affiant.

\mathbf{Z}	Con	firm	ned
--------------	-----	------	-----

4. CERTIFICATIONS REGARDING DEBARMENT, SUSPENSION AND OTHER RESPONSIBILITY MATTERS*

Pass Fai

The applicant certifies that it and its principals:

- 1. Are not presently debarred, suspended, proposed for debarment, declared ineligible, sentenced to a denial of Federal benefits by a State or Federal court, or voluntarily excluded from covered transactions by any Federal department or agency;
- 2. Have not within a three-year period preceding this application been convicted of or had a civil judgment rendered against them for commission of fraud or a criminal offense in connection with obtaining, attempting to obtain, or performing a public (Federal, State, or local) transaction or contract under a public transaction, violation of Federal or State antitrust statutes or commission of embezzlement, theft, forgery, bribery, falsification or destruction of records, making false statements, or receiving stolen property;
- 3. Are not presently indicted for or otherwise criminally or civilly charged by a governmental entity (Federal, State, or local) with commission of any of the offenses enumerated in paragraph (b) of this certification; and
- 4. Have not within a three-year period preceding this application had one or more public transactions (Federal, State, or local) terminated for cause or default.

✓ Confirmed

shall:

5. DRUG-FREE WORKPLACE PROGRAM*

Pass Fai

- 1. IDENTICAL TIE PROPOSALS Preference shall be given to businesses with drug-free workplace programs. Whenever two or more bids which are equal with respect to price, quality, and service are received by the State or by any political subdivision for the procurement of commodities or contractual services, a bid received from a business that certifies that it has implemented a drug-free workplace program shall be given preference in the award process. Established procedures for processing tie proposals will be followed if none of the tied vendors have a drug-free workplace program. In order to have a drug-free workplace program, a business
 - 1. Publish a statement notifying employees that the unlawful manufacture, distribution, dispensing, possession, or use of a controlled substance is prohibited in the workplace and specifying the actions that will be taken against employees for violations of such prohibition.
 - 2. Inform employees about the dangers of drug abuse in the workplace, the business's policy of maintaining a drug-free workplace, any available drug counseling, rehabilitation, and employee assistance programs, and the penalties that may be imposed upon employees for drug abuse violations.
 - 3. Give each employee engaged in providing the commodities or contractual services that are under bid a copy of the statement specified in subsection (1).
 - 4. In the statement specified in subsection (1), notify the employee that, as a condition of working on the commodities or contractual services that are under bid, the employee will abide by the terms of the statement and will notify the employer of any conviction of, or plea of guilty or nolo contendere to, any violation of chapter 893 or of any controlled substance law of the United States or any state, for a violation occurring in the workplace no later than five (5) days after such conviction.
 - 5. Impose a sanction on, or require the satisfactory participation in a drug abuse assistance or rehabilitation program (if such is available in the employee's community) by, any employee who is so convicted.
 - 6. Make a good faith effort to continue to maintain a drug-free workplace through implementation of these requirements.

As the person authorized to sign the statement, I certify that this firm complies fully with the above requirements.

✓ Confirmed	
6. SOLICITATION, GIVING, AND ACCEPTANCE OF GIFTS POLICY *	Pass Fai
Florida Statute 112.313 prohibits the solicitation or acceptance of Gifts. "No Public officer, employee of an agency, loc or candidate for nomination or election shall solicit or accept anything of value to the recipient, including a gift, loan, re employment, favor, or service, based upon any understanding that the vote, official action, or judgment of the public of government attorney, or candidate would be influenced thereby." The term "public officer" includes "any person elected office in any agency, including any person serving on an advisory body."	eward, promise of future officer, employee, local
The City of Hollywood/Hollywood CRA policy prohibits all public officers, elected or appointed, all employees, and the accepting any gifts of any value, either directly or indirectly, from any contractor, vendor, consultant, or business with does business.	
The State of Florida definition of "gifts" includes the following:	
 Real property or its use, Tangible or intangible personal property, or its use, A preferential rate or terms on a debt, loan, goods, or services, Forgiveness of indebtedness, Transportation, lodging, or parking, Food or beverage, Membership dues, Entrance fees, admission fees, or tickets to events, performances, or facilities, Plants, flowers or floral arrangements Services provided by persons pursuant to a professional license or certificate. Other personal services for which a fee is normally charged by the person providing the services. Any other similar service or thing having an attributable value not already provided for in this section. Any contractor, vendor, consultant, or business found to have given a gift to a public officer or employee, or his/her fadismissal or revocation of contract. As the person authorized to sign the statement, I certify that this firm will comply fully with this policy. Confirmed 	mily, will be subject to
7. Certificate of Insurance*	Pass Fa
See requirements in the <u>#SPECIAL TERM AND CONDITIONS</u> section.	
D Hollywood_COI.pdf	
8. PROOF OF SUNBIZ REGISTRATION* Enter company FEIN to be verified in Sunbiz 65-0303696 Click to Verify Value will be copied to clipboard	Pass Fai
9. ACKNOWLEDGMENT AND SIGNATURE PAGE	
9.1. If Corporation - Date Incorporated/Organized:* 01/01/1992	Pass Fai
9.2. State Incorporated/Organized:* Florida	Pass Fai
9.3. Remittance Address*	□ Pass □ Fai

1000 W. Industrial Avenue Boynton Beach, FL 33426	
9.4. Bidder/Proposer's Authorized Representative's Typed Full Name*	Pass Fai
Mauro Comuzzi	
9.5. IT IS HEREBY CERTIFIED AND AFFIRMED THAT THE BIDDER/PROPOSER CERTIFIES ACCEPTANCE OF THE CONDITIONS, SPECIFICATIONS, ATTACHMENTS AND ANY ADDENDA. THE BIDDER/PROPOSER SHALL ACCEPT MADE AS A RESULT OF THIS SOLICITATION. BIDDER/PROPOSER FURTHER AGREES THAT PRICES QUOTED W FIXED FOR THE PERIOD OF TIME STATED IN THE SOLICITATION.*	TANY AWARDS
☑ Confirmed	Pass Fai
9.6. THE EXECUTION OF THIS FORM CONSTITUTES THE UNEQUIVOCAL OFFER OF BIDDER/PROPOSER TO BE TERMS OF ITS PROPOSAL. FAILURE TO SIGN THIS SOLICITATION WHERE INDICATED BY AN AUTHORIZED RE SHALL RENDER THE BID/PROPOSAL NON-RESPONSIVE. THE CITY MAY, HOWEVER, IN ITS SOLE DISCRETION BID/PROPOSAL THAT INCLUDES AN EXECUTED DOCUMENT WHICH UNEQUIVOCALLY BINDS THE BIDDER/PR TERMS OF ITS OFFER.*	PRESENTATIVE , ACCEPT ANY
✓ Confirmed	Pass Fai
9.7. PROPOSAL FORM*	Pass Fai
Please download the below documents, complete, and upload.	
₩ <u>Proposal_Form.docx</u>	
Hollywood_Proposal_(signed).pdf	
10. SWORN STATEMENT PURSUANT TO SECTION 287.133 (3) (a) FLORIDA STATUTES ON PUBLIC ENTITY	CRIMES
10.1. This form statement is submitted to the City of Hollywood by:*	Pass Fai
(Print individual's name and title) (Print name of entity submitting sworn statement)	
Mauro Comuzzi, President	
10.2. Sworn Statement Continuation:*	Pass Fai
Enter business address:	
1000 W. Industrial Avenue Boynton Beach, FL 33426	
10.3. Sworn Statement Continuation:*	☐ Pass ☐ Fai
Enter Federal Employer Identification Number (FEIN) is:	
If the entity has no FEIN, include the Social Security Number of the individual signing this sworn statement.	
65-0303696	
10.4. Sworn Statement Continuation:*	Pass Fai
I understand that "convicted" or "conviction" as defined in Paragraph 287.133(1)(b), Florida Statutes, means a finding of good of a public entity crime, with or without an adjudication of guilt, in an federal or state trial court of record relating to charge indictment or information after July 1, 1989, as a result of a jury verdict, nonjury trial, or entry of a plea of guilty or nolo converse.	s brought by
10.5. Sworn Statement Continuation:*	Pass Fai
I understand that "Affiliate," as defined in paragraph 287.133(1)(a), Florida Statutes, means:	

1. A predecessor or successor of a person convicted of a public entity crime, or

2. An entity under the control of any natural person who is active in the management	
of the entity and who has been convicted of a public entity crime. The term "affiliate"	
includes those officers, directors, executives, partners, shareholders, employees,	
members, and agents who are active in the management of an affiliate. The	
ownership by one person of shares constituting a controlling interest in another	
person, or a pooling of equipment or income among persons when not for fair	
market value under an arm's length agreement, shall be a prima facie case that	
one person controls another person. A person who knowingly enters into a joint	
venture with a person who has been convicted of a public entity crime in Florida	
during the preceding 36 months shall be considered an affiliate.	
☑ Confirmed	
10.6. Sworn Statement Continuation:*	☐ Pass ☐ Fai
I understand that "person," as defined in Paragraph 287.133(1)(e), Florida Statues, means any natural person or any entity the laws of any state or of the United States with the legal power to enter into a binding contract and which bids or applies let by a public entity, or which otherwise transacts or applies to transact business with a public entity.	
The term "person" includes those officers, executives, partners, shareholders, employees, members, and agents who are a management of an entity	active in
☑ Confirmed	
10.7. Sworn Statement Continuation:*	Pass Fai
Based on information and belief, the statement which I have marked below is true in relation to the entity submitting this sv (Please indicate which statement applies.)	vorn statement.
Division of Administrative Hearings, determined that it was not in the public interest to place the entity submitting this sworl convicted vendor list. (attach a copy of the Final Order).	n statement on the
Neither the entity submitting sworn statement, nor any of its officers, director, executives, partners, shareholders, employed agents who are active in the management of the entity, nor any affiliate of the entity has been charged with and convicted corime subsequent to July 1, 1989.	
10.8. Sworn Statement Confirmation*	Pass Fai
I UNDERSTAND THAT THE SUBMISSION OF THIS FORM TO THE CONTRACTING OFFICER	
FOR THE PUBLIC ENTITY IDENTIFIED IN PARAGRAPH 1 (ONE) ABOVE IS FOR THAT PUBLIC	
ENTITY ONLY AND THAT THIS FORM IS VALID THROUGH DECEMBER 31 OF THE CALENDAR	
YEAR IN WHICH IT IS FILED. I ALSO UNDERSTAND THAT I AM REQUIRED TO INFORM THAT	
PUBLIC ENTITY PRIOR TO ENTERING INTO A CONTRACT IN EXCESS OF THE THRESHOLD	
AMOUNT PROVIDED IN SECTION 287.017 FLORIDA STATUTES FOR A CATEGORY TWO OF	
ANY CHANGE IN THE INFORMATION CONTAINED IN THIS FORM.	
PRICE TABLES	

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
Labor					
1	Plumber - Regular Hourly Rate	1	per hour	\$0	0.00 \$0.00
2	Plumber - Overtime/Emergency Rate	1	per hour	\$0	0.00 \$0.00
3	Plumbing Assistant - Regular	1	per hour	\$0	0.00 \$0.00
4	Plumbing Assistant - Overtime/Emergency Rate	1	per hour	\$0	0.00 \$0.00
5	Additional staff	1	per hour	\$0	0.00 \$0.00
Materials and	dSupplies				
1	Materials and Supplies	1	% markup	\$0	0.00 \$0.00
2	Materials and Supplies	1	% markup	\$0	0.00 \$0.00
3	Materials and Supplies	1	% markup	\$0	0.00 \$0.00
Equipment					
1	Equipment Fees	1	per hour	\$0	0.00 \$0.00
	Total				\$0.00

Electrical Repairs and Maintenance

Line Item	Description	Quantity	Unit of Measure Unit Cost		Total	
Labor						
1	Electrician	1	Hourly rate		\$0.00	\$0.00
2	Electrician - Overtime/Emergency	1	Hourly rate		\$0.00	\$0.00
3	Electrician's Assistant	1	Hourly rate		\$0.00	\$0.00
4	Electrician's Assistant - Overtime/Emergency	1	Hourly rate		\$0.00	\$0.00
Materials an	d Supplies					
1	Materials and Supplies	1	% mark up		\$0.00	\$0.00

2	Materials and Supplies	1	% markup	\$0.00	\$0.00
Equipment					
1	Bucket Truck	1	per hour	\$0.00	\$0.00
2	One person Indoor Lift to a Maximum of 45	1	per hour	\$0.00	\$0.00
3	Equipment Rental	1	per hour	\$0.00	\$0.00
	Total				\$0.00
Roadways and	Streets Maintenance				
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
Labor					
1	Superintendent	1	per hour	\$125.00	\$125.00
2	Foreman	1	per hour	\$70.00	\$70.00
3	Equipment Operator	1	per hour	\$50.00	\$50.00
4	Laborer	1	per hour	\$35.00	\$35.00
General Cond	litions and Mobilization				
1	General conditions and mobilization costs for jobs less than \$2,499.	1	% of total project	\$75.00	\$75.00
2	General conditions and mobilization costs for jobs less than \$5,000	1	% of total project	\$55.00	\$55.00
3	General conditions and mobilization costs for jobs less than \$25,000	1	% of total project	\$35.00	\$35.00
4	General conditions and mobilization costs for jobs greater than \$50,000	1	% of total project	\$15.00	\$15.00
Maintenance	of Traffic				
1	Furnish and install traffic plates for 12-foot wide traffic lane - daily rate	1	Daily rate	\$1,500.00	\$1,500.00
2	Furnish and install steel traffic plates for 12-foot wide traffic lane - weekly rate	1	DR	\$1,885.00	\$1,885.00

3	Type I barricade per FDOT standard index No. 600 - provide for project duration up to 14 days	10	DR	\$24.00	\$240.00
4	Type 1 barricade per FDOT standard inddex No. 600 - provide for project duration up to 30 days	10	DR	\$35.00	\$350.00
5	Type II barrricade per FDOT standard index No. 600 - provide for project duration up to 14 days	10	DR	\$21.00	\$210.00
6	Type II barricade per FDOT standard index No. 600 - provide for project duration up to 30 days	10	DR	\$35.00	\$350.00
7	Type III barricade per FDOT standard index No. 600 - provide for project duration up to 14 days	10	EA	\$34.00	\$340.00
8	Type III barricade per FDOT standard index No. 600 - provide for project duration up to 30 days	10	EA	\$45.00	\$450.00
9	Furnish and install temporary concrete barrier wall - provide for project duration up to 14 days	25	LF	\$300.00	\$7,500.00
10	Furnish and install temporary concrete barrier wall - provide for project duration up to 30 days	25	LF	\$450.00	\$11,250.00
11	Furnish and install temporary plastic (water filled) barrier wall, 42" high provide for project duration up to 14 days	25	LF	\$75.00	\$1,875.00
12	Furnish and install temporary plastic (water filled) barrier wall, 42" high - provide for project duration up to 30 days	25	LF	\$95.00	\$2,375.00
13	Portable 6kw tower light (including power source as required) - daily rate	1	LF	\$600.00	\$600.00
14	Portable 6kw tower light (including power source as required) - weekly rate	1	LF	\$1,000.00	\$1,000.00
15	Portable 6kw tower light (inlcuding power source as required) - montly rate	1	LF	\$1,200.00	\$1,200.00
Earthwork an	d Site Restoration				

1	Clearing and grubbing	0.1	AC	\$2,500.00	\$250.00
2	Remove and dispose of unsuitable material	50	CY	\$115.00	\$5,750.00
3	Import suitable fill material-in-place	50	CY	\$99.00	\$4,950.00
4	Furnish and install St. Augustine or like kind sod	100	SY	\$30.00	\$3,000.00
5	Furnish and install Bahia sod	100	SY	\$32.00	\$3,200.00
6	Swale Restoration (up to 12" deep w/IV :4H slopes or flatter)	100	SY	\$150.00	\$15,000.00
Paving and C	Concrete				
1	12" stabilized subgrade (min. LBR of 40)	100	SY	\$25.50	\$2,550.00
2	6" Limerock Base (min. LBR of 95), including Prime coat	100	SY	\$49.00	\$4,900.00
3	Each additional 2" limerock base (min. LBR of 95), including prime coat	100	SY	\$8.50	\$850.00
4	1" asphalt type, SP-9.5, including tack coat 0-60 ton	1	TN	\$375.00	\$375.00
5	1" asphalt type, SP-9.5, including tack coat 61-150	1	TN	\$201.00	\$201.00
6	1" asphalt type, SP-9.5, including tack coat 151- 250 ton	1	TN	\$165.00	\$165.00
7	1" asphalt type, SP-9.5, including tack coat 250+ ton	1	TN	\$160.00	\$160.00
8	1 1/2 asphalt type SP- 12.5, including tack coat	1	TN	\$375.00	\$375.00
9	1 1/2" Asphalt type SP- 9.5, including tack coat 61-150 ton	1	TN	\$201.00	\$201.00
10	1 1/2" asphalt type SP-9.5, including tack coat 151- 250 ton	1	TN	\$165.00	\$165.00
11	1 1/2" asphalt type SP-9.5, including tack coat 250+ ton	1	TN	\$160.00	\$160.00
12	Mill existing pavement (1"average depth) 0-2,500	1	SY	\$19.50	\$19.50
13	Mill existing pavement (1" average depth) 2,501-5,000	1	SY	\$4.00	\$4.00
ı					

14	Mill existing pavement (1" average depth) 5,001-7,500	1	SY	\$3.50	\$3.50
15	Mill existing pavement (1" average depth) 7,501- 10,000	1	SY	\$3.45	\$3.45
16	Mill existing pavement (1" average depth) 10,000+	1	SY	\$3.00	\$3.00
17	Premium sealcoat (up to 5,000 SF) polytar heavy duty pavement sealer (or approved equal) applied per manufacturer's (gemseal) specifications	1	SF	\$0.70	\$0.70
18	Premium sealcoat (5,000 SF - 10,000SF) polytar heavy duty pavement sealer (or approved equal) applied per manufacturer's (gemseal) specifications	1	SF	\$0.35	\$0.35
19	Premium sealcoat (10,000 SF - 20,000SF) polytar heavy duty pavement sealer (or approved equal) applied per manufacturer's (gemseal) specifications	1	SF	\$0.24	\$0.24
20	Premium sealcoat (20,000SF - 50,000SF) polytar heavy duty pavement sealer (or approved equal) applied per manufacturer's (gemseal) specifications	1	SF	\$0.21	\$0.21
21	Premium sealcoat (50,000SF or greater) polytar heavy duty pavement sealer (or approved equal) applied per manufacturer's (gemseal) specifications	1	SF	\$0.16	\$0.16
22	Remove and dispose of existing asphalt pavement (up to 4")	100	SY	\$63.00	\$6,300.00
23	Remove and dispose of existing concrete (up to 6")	100	SY	\$59.00	\$5,900.00
24	Remove and dispose of exisiting Type "D" concrete curb	100	LF	\$11.00	\$1,100.00
25	Remove and dispose of existing Type "F" concrete curb and gutter or concrete valley gutter	100	LF	\$11.00	\$1,100.00

26	Pavement restoration (up to 18" Limerock, 2" asphalt)	25	SY	\$93.00	\$2,325.00
27	Type "F" curb & gutter, including 4" limerock pad	25	LF	\$60.00	\$1,500.00
28	Type "D" curb	25	LF	\$25.00	\$625.00
29	8' wide asphalt exercise path w/6" limerock base (min. LBR of 100)	25	LF	\$85.00	\$2,125.00
30	4" concrete sidewalk (min. 3,000psi) w/compacted subgrade	100	SY	\$107.00	\$10,700.00
31	6" concrete sidewalk (min. 3,000psi) w/compacted subgrade	100	SY	\$162.00	\$16,200.00
32	Remove and replace existing 6" stamped concrete (min. 3,000psi) w/compacted subgrade	100	SY	\$239.00	\$23,900.00
33	Pot hole repair - up to 70 square feet (sawcut and remove existing asphalt, compact base and apply tack to perimeter of patches, install 2" asphalt, compact w/vibrator roller	1	SF	\$110.00	\$110.00
34	Pot hole repair - up to 71 to 250 square feet (sawcut and remove existing asphalt, compact base and apply tack to perimeter of patches, install 2" asphalt, compact	1	SF	\$30.00	\$30.00
35	Pot hole repair - 151 to 250 square feet (sawcut and remove existing asphalt, compact base and apply tack to perimeter of patches, install 2" asphalt, compact	1	SF	\$25.00	\$25.00
36	Pot hole repair - 251+square feet (sawcut and remove existing asphalt, compact base and apply tack to perimeter of patches, install 2" asphalt, compact	1	SF	\$14.00	\$14.00
37	Pot hole repair - each additional 10 square feet	1	LS	\$270.00	\$270.00
38	Brick pavers (min. 3 1/8" thick) on 1/4 sand bed	25	SY	\$120.00	\$3,000.00
39	Remove and replace exisiting brick pavers	100	SY	\$125.00	\$12,500.00

40	Remove and replace existing header curb(up to 12"x12")	100	LF	\$60.00	\$6,000.00
41	Install new 8"x12" header curb (min. 4,000psi)	100	LF	\$75.00	\$7,500.00
42	Accessible ramps (concrete) w/embedded detectable warning surface	1	EA	\$3,500.00	\$3,500.00
43	Furnish and install detectable warning (cast in place mat)	8	SF	\$55.00	\$440.00
44	Furnish and install detectable warning(surface applied mat)	8	SF	\$40.00	\$320.00
45	Furnish and install guardrail per FDOT standard index No. 400	25	LF	\$250.00	\$6,250.00
46	Furnish and install guardrail end anchorage assembly per FDOT standard index No. 400	2	EA	\$3,975.00	\$7,950.00
47	Furnish and install pedestrian handrail per FDOT standard index No. 870	25	LF	\$250.00	\$6,250.00
48	Furnish and install 6' high temporary chain link fencing	50	LF	\$90.00	\$4,500.00
49	Furnish and install 4' high orange construction fence	50	LF	\$41.00	\$2,050.00
50	Flowable fill	50	CY	\$425.00	\$21,250.00
51	Concrete wheel stops - installed	1	EA	\$88.00	\$88.00
Pavement Ma	arkings and Signage				
1	Single post sign (Up to 30" x 30")	1	EA	\$1,095.00	\$1,095.00
2	4" solid striping (themoplastic)	25	LF	\$1.90	\$47.50
3	6" solid striping (themoplastic)	25	LF	\$1.90	\$47.50
4	8" solid striping (themoplastic)	25	LF	\$2.75	\$68.75
5	12" solid striping (themoplastic)	25	LF	\$5.00	\$125.00
6	18" solid striping (themoplastic)	25	LF	\$7.95	\$198.75
7	24" solid striping (themoplastic)	25	LF	\$10.95	\$273.75

8	6" skip stripping (thermoplastic)	25	LF	\$2.00	\$50.00
9	4" solid striping (paint)	25	LF	\$0.95	\$23.75
10	6" solid striping (paint)	25	LF	\$1.05	\$26.25
11	8" solid striping (paint)	25	LF	\$1.35	\$33.75
12	12" solid striping (paint)	25	LF	\$2.10	\$52.50
13	18" solid striping (paint)	25	LF	\$2.75	\$68.75
14	24" solid striping (paint)	25	LF	\$4.65	\$116.25
15	6" skip striping (paint)	25	LF	\$1.25	\$31.25
16	Arrow (thermoplastic)	1	EA	\$120.00	\$120.00
17	Arrow (paint)	1	EA	\$70.00	\$70.00
18	Lettering per letter	5	EA	\$195.00	\$975.00
19	Handicap symbol (thermoplastic)	1	EA	\$550.00	\$550.00
20	Handicap symbol (paint)	1	EA	\$100.00	\$100.00
21	Reflective pavement marker (RPM)	10	EA	\$12.00	\$120.00
22	Remove existing thermoplastic pavement markings (hydroblast)	10	LF	\$250.00	\$2,500.00
23	Portable stop sign (30"x 30")	1	EA	\$600.00	\$600.00
	Total				\$234,987.86